Surds, indices and logs test SL/HL

1. Simplify the following surds:
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2. Rationalise the denominator in the fraction,
5-42
[4]
3+ \/E

3. Evaluate the value of x to 3 decimal places in the equation,
2 =10 [3]

4. Find the missing letter in each of the equations below.

a) log,64 =6

b) log,y =4

C) log,64==z [6]
5. Solve, log.(26x -10) = 3 + log.(x - 8). [4]

6. Let x=1log,2 and y =log, 3, find in terms of x and y,

a) log, 36 b) Ioga(i—gj [4]

7. Evaluate log,2xlog,,y [3]
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Answers
1. a) 73 b) 5 ® 45-4N§=19-&E)
, 17-82
' 7
3. 3.322
4. a) X=2 b) y =81 C) z=3
5. x=10
6. a) 4x+y) by Y
4x

7. L

5
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